Name: s, Uacppradcd

.arne 2 angles the given angle has the given correspondence with.

Geo Unit 3 Review STATION 1

1, Cor-responding Angles: 22 and 410__, <2 and AQ_

2. Alternate Interior Angles: <11 and _{‘l_ £11 and _é___@_

3. Alternate Exterior Angles: 49 and _{:__6_ £9 and _4_(0__

~—5/1z T~
4, Mmmﬂor Angles: 25 and - “ , 24 and < I I
| What is the relationship between the given pairs of angles?
5. 21and 25:_(Bveesppodusy
6. 24 and 26:_ QU sherio
-~ 413 and 215 \CAA Co X Qe S 1/2 |
. . 43 85 _%)'___‘h
8. 210 and £9:_UivlaN IV
9. 214 and 28:Q0C R LR - éfff’ :%:: €
r

10. 211 and £16: (L (S2LAUNE. (MDY

Use the diagram and the given congruence to determine if mll , pll g, or neither. If 2 lines are
parallel, write the reason.

n s=ao_MO\N okt ot ange covese 7 )
12. 4= ,11;_NOKWON” 3fF 11[12 7
516 13/14

718 15]15 2
13, 212 = £13: ‘2“% L(ﬁ: (!MQ: (g}u&% ;
@%4 07 = c16: N W o
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Name: MW S, UQ (CDoref A

nd the values of x and y.

1. {
1 1
,‘;'?-‘gu_/gi ICS +X-2 = 80
- X +\03 =3O
3,
o
L-H4=92
G idl 2% =9l

7. If £A and £B are complementary and
mzA = (4x? + 28)° and m«B = (68 - 10x)°,
what are the measures of the angles?

HR*+22 + (R -10X =40

AT 0% +aL = A0
© L ox+0:=0
2(2%x2-5x+2) =0

2(2x-3Yx-1)7 0

Geo Unit 3 Review STATION 2

e 2%+ = 1RO
22 (¥

A
i ‘= S -10+715 = (8D
{54 = 101" SX+ S 718D
\ | S¥ =S
i)(";%_\
!
(4—:2%-\—\\0:!%(
170 -
~\\{Eﬁr—zsr %4’82 %0
T I @:qg |
5x-15=1D
| 5%=125
w20 ¥V7O
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‘"ove each of the following.

L Given: pll 1, g1
Prove: ,1=,3

Geo Unit 3 Review STATION 3

Stateno g a0
P\t Given
%\\ 's GweN
2| At Dt Avgies Twoeem
2% 2% Cox ves@m&m% Anq0S postulatl
2\ %<3 A\ 228\
2. Given: gllrandp L ¢
Prove: p L r
stareveks | Peasors
QWY &len
4% GEWLN
<\ is a vt angle | UF OF 1
L\=sn Cowespondi Anges Fosteinid
£ Qi avigttagl] Rioytt ALs &= eovem
Pl gek. of A
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Nerme. |
Qme.w W Geo Unit 3 Review STATION 4

.—ove each of the following.

1. Given: gl h 21 =r2

Prove: pll {g /ﬁ
Stakeate ks ReaS00S ) / 3/ g
c&\\ 2 Eivgn : 7
Ll %E2D Gnen f f
<| =<z (ovvesponding Ands Postulate.
<A%<z Tvansitue .
P\ (',bwes(cocdm% Avgus Converse_

Q. Given: gll A, 21 and 24 are supplementary
Prove: pll r

s
SYatenots Bassns . 1 /
/S

& Gven _
Z\x e ane Sp0P. ENg! //
melvmed = \9p A€, of SUEP.
2l >0 AL Lk, Ao, heeven
mel = me Ak, of &

meatmett =\2D Suloshthon
e ane supo, | A OF Sugp.

P\\\( CongtectN Int. Avgos, (oowerse
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